11@65 (Kl 1&65)

e 2 N Linearized knot diagam

e I e

5 1 9 2 4 11 10 3 8 7 6

0 1
/\//\// Solving Sequence

3,86964H10ﬁ7ﬂ11ﬂ661%2?5%01,04
5

A knot diagrarrﬂ cg T c3 cg o cy  Clp  Cg €11 C
Ideals for irreducible component#ﬂ)f Xpar

= w4 u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*4+u*®+..- —u—1)

(i) Arc colorings

w= (1)

ag —

ud —ub +3ut — 202 +1
ud + 2u?
—u + u® — 448 4+ 3u* — 3u? + 1
a; = _u10 _ 3’U,6 _ u2
u?t —2ul . —6ud - u

w?l — w9 + 7l — 6wt + 16w — 1lutt + 130 — 60’ +3u® —ud +u

w'? — !0 + 508 — 448 + 6ut —3u? +1
—ult 4+ 2012 — 5010 4+ 8u® — 6wl + 6ut — u?

12 _ 10 4 508 — 4ub + 6u* — 3u? +1 )

a5 =

as = 44202 — 5ut0 4 8ud — 6ub + 6ut — u?

T
S e

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u?" + 4u?® — 8u? — 12u?* + 44u*® + 48u?? — 720! — 104u?° +
1844 + 2088 — 240u!” — 32446 + 364u'® + 404u'* — 360u'3 — 440u'? + 340u'! +
35210 — 2284 — 256u® + 12447 + 124u® — 3205 — 48u* + 8u® + 8u? + 12u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cy w4 u 4+ +3u—1
Ca,Cs w11+ +3u—1
c3,C8 u u o —u—1
Ce, C7, C9 u2975u28+...+3u—1
€10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 v 1y 3y -1
C2,Cs v 15y 4+ 495y — 1
€3,C8 v =5y 3y -1
€6, €7, C9 v +39y8 + ... 415y — 1
€10, C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = 0.662542 4 0.7339951

—2.87279 — 3.431901

1.84331 + 2.636171

u= 0.662542 — 0.7339951

—2.87279 + 3.431901

1.84331 — 2.636171

u = —0.860153 4 0.6031401

—0.92695 — 3.262801

6.14452 + 3.988891

u = —0.860153 — 0.6031401

—0.92695 + 3.262801

6.14452 — 3.988891

u = 0.800498 4 0.7113561

—6.28353 + 2.631921

—1.57742 — 3.513561

u = 0.800498 — 0.7113561

—6.28353 — 2.631921

1.57742 + 3.513561

u = —0.670146 + 0.6434691

—1.53821 — 1.443001

4.26199 + 3.338661

u = —0.670146 — 0.6434691

—1.53821 + 1.443001

4.26199 — 3.338661

u = 0.897053 4 0.6374891

—2.10190 + 8.516371

4.12248 — 8.757701

u = 0.897053 — 0.6374891

—2.10190 — 8.516371

4.12248 + 8.757701

u = —0.863375 4 0.2434371

2.76289 — 4.794691

10.76150 + 7.926521

u = —0.863375 — 0.2434371

2.76289 4 4.794691

10.76150 — 7.926521

u= 0.849421 + 0.1714891

3.14251 — 0.348121

12.60939 — 1.200591

u= 0.849421 — 0.1714891

3.14251 4 0.348121

12.60939 + 1.200591

u = —0.567456 + 0.4286141

—1.16133 — 1.540191

1.06319 + 5.77766.1

u = —0.567456 — 0.4286141

—1.16133 + 1.540191

1.06319 — 5.777661

u=0.925735 + 0.9218891

—10.84070 4 1.592631

4.08077 — 2.188961

u = 0.925735 — 0.9218891

—10.84070 — 1.592631

4.08077 + 2.188961

u = —0.922097 4 0.9343951

—12.57420 + 3.906081

1.76608 — 2.347331

u = —0.922097 — 0.9343951

—12.57420 — 3.906081

1.76608 + 2.347331

u = 0.955680 4 0.9060891

—10.74280 + 5.13666.1

4.24719 — 2.412781

u = 0.955680 — 0.9060891

—10.74280 — 5.136661

4.24719 + 2.412781

u = —0.948212 4 0.9273841

—16.7628 — 3.40881

1.58895 + 2.295811

u = —0.948212 — 0.92738471

—16.7628 + 3.40881

—1.58895 — 2.295811

u = —0.966924 + 0.9095231

—12.4263 — 10.68651

2.06858 + 6.864381

u = —0.966924 — 0.9095231

—12.4263 + 10.68651

2.06858 — 6.864381

u = 0.587859

0.756056

13.9270

u = —0.086497 4 0.5144227]

0.39338 + 2.265071

2.23388 — 3.179091

u = —0.086497 — 0.5144227]

0.39338 — 2.265071

2.23388 + 3.179091




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cq u? 4+ 4 3u—1
C2,Cs u® +11u® -+ 3u—1
c3,C8 w4+ uP 4+ —u—1
Ce, C7,Cy u29_5u28+...+3u_1
€10, C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cq v +11y® + - 43y —1
C2,Cs y29+15y28+~~+95y71
C3,C8 v — 5y 4+ 43y —1
Ce, C7,Cy y29+39y28++15y—1
€10, C11




